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+0.05
o
£0.045
3
§ 0.04
£0.035
(0]

0.03
0.025

0.02
0.015
0.01—----¢----§ ------------ Foeeeeeeeesd R
0.005fF---==wwsnrinmmmmnnnnnns Foerereneend e

107t 1 10 11sz (Ge\}P3

11111

—ehoC

I{ﬂa 8 sratrector—to00evt
Cﬁggé %%igﬁ 1RO TLIERS 1000evt

c 0F————
20,09 """" R A
Ol S S T RN I
Q@ E : : : :
D007 errrberreerinneeeens S TP ST
5 E : : : :
006
T st
o s et
o.osf—---ﬁ}-------é -------- S CRTRRRRR o5 t
T T '+'+";'"'
0'01?';'"?+'+*'+*W ------- ++*‘H*+H+“**+’
o OFrrH TR T T TR
‘(.'5’ o . : : o
o b L {fTEUT T T
0.9 =-
e S -




	Contents
	Page 1


